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Q.No: 1 Which of the following type of practice is not related to the cultivation of fruits, vegetables, and plants?

2426898
ol 3 A 59 YoR &1 quaur wal, aieral ik el @t St § Hafer 7 82
Horticulture
A
PR
Viticulture
B
e
Apiculture
C
TR
Agriculture
D

ThHTER

Correct Ans : C

Subject : General Knowledge

Q.No: 2 Choose the correct statement from the following regarding Akbar’s rule.

2426922
IR H A P ey H PO ¥ w6 U o1 amd B
There were 16 Subas.
A
16 a1 3
The Wazir looked after military organisation.
B
TR I o BT TG Pt ol
The Bakshi looked after the revenue administration.
C
T TSR VRISl il
The chief 'Qazi’ held the highest position amongst the judges.
D

T o iR § Yae W g ol

Correct Ans : D

Subject : General Knowledge

Q.No: 3 Select the false statement regarding 'Nalanda University"

2426942
refer feyfena & Jey 7 Tq ST BT 9 DY
There were atleast 8 colleges built by different patrons.
A
faftr W] ERT I T HA F HH 8 Hlast 3
It was originally set up by Sakraditya in 5th century AD.
B
g q@ U § 5 o e ST § wmiiee R wift e ma i
There were atleast 10,000 students and teachers from different countries.
C

ol 3 % 30 I H7 10,000 T R Riggs A1

D There were only two libraries.



Fad < TP &
Correct Ans : D

Subject : General Knowledge

Q.No: 4 Choose the wrong statement about 'Amuktamalyada’

2426954
"SRIATGT & IR H e HYUF BT T97 B
It is composed by Vira Narsimha Raya
A
75 R RRver T R R B
It is written in Telugu
B
T8 O] ® Rerar mar &
It explains how a king should rule
C
Tg T & b TS HY FI A HRAT Y
Amuktamalyada translates to "One who offered the garland after wearing it themselves".
D

ST T SATE T8 & P Te B TeH S 916 el 1 9 B
Correct Ans : A

Subject : General Knowledge

Q.No: 5  How many classical dances are there in India?

2427010
YRA 3 fore T T €2
Five
A
g
Six
B
:
Seven
C
d
Eight
D
S

Correct Ans : D

Subject : General Knowledge

Q.No: 6  Kaliyattam dance of Kerela is performed to praise goddess ____ ?
2427022

IR T Fiiaed T &bt 3 R & o fan o 82

Gauri
A

e

Kamakhya
B

HIHEAT

Kali
Cc

Prei

Durga
D

g

Correct Ans : C

Subject : General Knowledge



Q.No: 7 Who is the first men's ODI cricket captain of India?

2427508
HRT & U5A oY TPHRawy fhde Fam S 2 2
Sunil Gavaskar
A
it ey
Ajit Wadekar
B
EEickiccad
Bisan Singh Bedi
C
e e 3@
Kapil Dev
D
Cdink

Correct Ans : B

Subject : General Knowledge

Q.No: 8  Lovlina Borgohain won a bronze medal for India in Tokyo Olympics, she is related to which sport?
2427527

A St & aaeien SR A URd & R st Fsa S 98 e I 3 it §2

Wrestling
A
Eadl
Boxing
B
qabaTet
Lifting
C
HRITer
Badminton
D
Yefiiea

Correct Ans : B

Subject : General Knowledge

Q.No: 9  The Group of Twenty (G20) Leader’s Summit 2021 was held in which country?
2428893

7u i g1 (Sh20) s Tftre 2021 fw e & smifsa fawar war ar?

USA
A

TqHY

Italy
B

gedht

UK
c

kg

Canada
D

FIST

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Which of the following Terms is not matched correctly with games?
2430523

frafaea 8 ¥ $F W ug I F Iy T T § A 7 @ 82



A Boating - Cox

AT - Pl
Badminton - Deuce
B
Yefifed - S
Billiards - Bogie
(o
Riftds - dnfr
Chess - Gambit
D

A - At
Correct Ans : C

Subject : General Knowledge

Q.No: 11  From where do NBFCs get their licenses?

2434053
R-3fe foxiia Fufat s A el & W DR § ?
Finance Ministry
A
o vz
Ministry of Corporate Affairs
B
FRURE T HAR
SEBI
C
&
Reserve Bank of India
D

Correct Ans : D

Subject : General Knowledge

Q.No: 12 In which of the following places is the Tulsi Shodh Sansthan located in Madhya Pradesh?
2441042

T e  gerd Wy SR fFafifEd § 9 few =M w R @2

Bhind
A

fifs

Chitrakoot
B

feerge

Omkareshwar
C

PR

Chhindwara
D

st

Correct Ans : B

Subject : General Knowledge

Q.No: 13 Mohammad Khan, the son of Shakkar Khan was a court musician of -
2441057

TP GH & YA HigHe G P TP RN GaPR 9 -

Raja Daulat Rao Scindia

ol e 3 Riftrm
B Raja Anand Rao Scindia



XTSI $FE <9 Rifwr

Raja Jayaji Rao Scindia

T TSt 3| R

Raja Madho Rao Scindia

e At g RiftEr
Correct Ans : A

Subject : General Knowledge

Q.No: 14 In which of the following districts of Madhya Pradesh is the Fair of Ramlila held?
2441079

T R & Fufafad ¥ 3 g forer & e o1 e @ g2

Bhopal
A

*arer

Gwalior
B

R

Katni
C

Pt

Khandwa
D

gsar

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Which of the following tourist spots has earned the honour of UNESCO World Heritage Site?
2441358

Frofafa & 9 frg wie wa 3 ! 3 fay R R &1 3 eifvfd fevar 82

Udaigiri
A

ek

Bhimbetka
B

st

Gwalior
C

IR

Chanderi
D

=

Correct Ans : B

Subject : General Knowledge

Q.No: 16 Where is the Hoshang Shah Tomb located?

2441378
BT 8 T HHaRT ol U 82
Burhanpur
A
TEAR
Mandu
B
Hig

[} Hoshangabad (now Narmadapuram)



BIRITEG { 3HI THATYRH)
Bhopal

AT

Correct Ans : B

Subject : General Knowledge

Q.No: 17 Who is the chairman of Cabinet Committee on Investment Promotion (CCIP) in Madhya Pradesh?
2441650

T o § Hiae FAC i gawedic iR (. omg W) F sreae HH 2

Finance Minister

A

fom =5

Governor
B

SqqTed

Home Minister
C

75 HA

Chief Minister
D

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Avantee Mega Food Park is situated in which district of Madhya Pradesh?
2441659

St FM EE Uk Hed v & forw o A fRya 82

Ujjain
A
IS
Dewas
B
e
Mandsour
c
HedR
Khargone
D
T|wi=

Correct Ans : B

Subject : General Knowledge

Q.No: 19 Madhya Pradesh is the oilseeds-producing state in India.
2441672
T TR HRA § foee SRS I B
largest
A
o 31
second-largest
B
T T T
third-largest
C
RISNEEEEN
fourth-largest
D

I IS TS

Correct Ans : A



Subject : General Knowledge

Q.No: 20 Government of India took over controlling interest of nepa mill in year -
2441686

YR WHR A T o A1 fya & o It Y uren

1947
A

1947

1952
B

1952

1958
Cc

1958

1962
D

1962

Correct Ans : C

Subject : General Knowledge

Q.No: 21 npareh the following: water-bome disease.
2422818
1 Polio A Vibrio vulnificus
2 Vibrioillness | B Polio virus
3 Botulism C Clostridium botulinium
Frafafad o1 fram Sifg - s s )
1 qrierar A fataar ateathaa
2 | Rpmdmsd |B | wifegraes
3 | Tt C | =rdiRawazias
1-B,2-C,3-A
A
1-B,2-C,3-A
1-A,2-B,3-C
B
1-A,2-B,3-C
1-B,2-A,3-C
(o}
1-B,2-A,3-C
1-A,2-C,3-B
D
1-A,2-C,3-B

Correct Ans : C

Subject : General Science

Q.No: 22 What ratio of the earth is covered with water?

2422836
qaft o fa g Ut § onga 2
3
A
3
1
4
B
1

[



Wik

Correct Ans : A

Subject : General Science

Q.No: 23
2422837

River Yamuna is getting polluted because:

A A wgfd €1 ¥ § il

Sewage, industrial effluents and garbage

WA, SN SaRIE SR et

Drinking, washing, gardening

i, o9, SRarT

Bathing, pre-sewage treatment, drinking

M, TE-ia STeR, IR1E dAr

Chlorination, vaccination

FARIERT, SeBTeBRor

Correct Ans : A

Subject : General Science

Q.No: 24
2422999

HIV was first reported in an African species of

THSA UgA AR ___ Y U@ snpiest wenter & Rdid favar wam am

Pig

3R
Dog

ksl
Monkey

Human

i)

Correct Ans : C

Subject : General Science

Q.No: 25
2423003

What is the uncontrolled and abnormal cell growth in the body called?

TRR Sl SR R Bk gl B T el o 82

Rabies

ECict
HIV

™ aE &t

Cancer



Diabetes

Ay

Correct Ans : C

Subject : General Science

Q.No: 26 In which country, 80% medicines used are generic?

2423021
9 3 ¥ IuEh 1 O el 80% @Y SR 82
Indonesia
A
SSFRm
Mexico
B
AP
America
[
ST
India
D
HRd

Correct Ans : C

Subject : General Science

Q.No: 27 Which legs are used by the insects out of the three pairs of legs to take a jump?
2428014

&7 S il § X IS gR1 e @ F R e 3R o1 SuEnT far S 82

hindlegs
A
fEstma
forelimbs
B
wiRfere
middle limb
C
YT 3T
front limbs
D
A & ST

Correct Ans : A

Subject : General Science

Q.No: 28 Which one of the following is the characteristic feature of phyla thallophyte?
2428027

Fofafaa & 3 sF-a1 b ddwse o siiaefim der g2

simple body
A

WA WR

roots present
B

W e ¥

flowering plant
C

Ta o

true leaves
D

Trdfas o
Correct Ans : A

Subject : General Science



Q.No: 29 Check the odd one out:

2428781
fawm 31 wifg @Y
Unicellular eukaryotic organisms
A
TSR gHRAeP Sia
Fungi
B
Eeca
Algae
C
Jar
Pine
D
L Eo

Correct Ans : D

Subject : General Science

Q.No: 30 Bryophytes possess :

2428813

SETECT ¥ U §:

plant body is gametophytic.
A

T 7 IRR goIRe B

plant body is sporophytic
B

W T IR Semgfeg 71

true stems and leaves are present.
Cc

IRAfE T R T weE

they are vascular plants.
D

J dagt O )

Correct Ans : A

Subject : General Science

Q.No: 31  When sunlight falls on solar cells, the energy from the sun is converted into:
2429006

ST g T UT AR e W TSI 8, 399 uRafid el ok 8:

Mechanical Energy

A
iy St
Thermal or Electrical Energy
B
oy a1 fagga oot
Nuclear Energy
C
TR St
Gravitational Energy
D

@B Hu
Correct Ans : B

Subject : General Science

Q.No: 32 __ in water bodies produce toxins which decreases the suitability of water for human use.
2429020

AN P AGA T 217 THS P aegell iR NG (Se) F et F B9 F ufad T &2



A Algae growtn

Qo
Aquatic weeds
B
STeftd WRUdAR
Cyanobacteria
C
TR
Blue green algae
D

A & Far@
Correct Ans : A

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429023 the correct answer to the question from the given options.

Assertion (A):Encouraging the use of CNG, LPG for public transportation.

Reason(R) :CNG contains methane, which combusts more cleanly than other fossil fuels.

e FEffed uy & & ouF § T 4 0o &1 "afieuar 3R g 31 'SR S T4 § A9 51 T R 1P 37 G Sl Bt GrayHigdE wid F ¢ SR fou Y fawedt § § vy 31 9 3w

SAFY(A): T TRas F Rie Hesh, Tadish & Swd o1 dared S
PR (R): Hiesh & Hia g 8, S oy Shared e Y ga § offie T F <o Hrar 8

Both A and R are true

A

T 3R SR S W@

Both A and R are false
B

T 3R 3R QY o

A is true but R is false.
o)

T 9d & AP SR 3 B

A is false but R is true.
D

T 3 & Af 3R Ta Bl
Correct Ans : A

Subject : General Science

Q.No: 34 ___ is added in LPG to detect its leakage as the LPG is odourless.
2430057

5% R &1 e @ F e adish & foreman e § it gardish dudiE @ 31

Mercaptan
A

e

Nylon
B

BRG]

Polymer
C

iR

Butane
D

o

Correct Ans : A

Subject : General Science

Q.No: 35



2430086 Which type of tuel does not produce pollution on burning?

8 UBR BT S8 T Ty e D B2
Solid fuels
A
du g
Liquid fuels
B
A §
Gaseous fuel
C
it e
Stream fuel
D

A
Correct Ans : C

Subject : General Science

Q.No: 36 From the given statement solve the following question
2422455
In a family there are seven members P, Q, R, S, T,U and V.
R is the sister of U
Q is the sister of T's husband
S is the father of P and grandfather of U
P is the husband of T

There are two father’s, two brothers and a mother in the family.

How T is related to U?

U T A & Fffed uy 1 ga Y
TH URAR A WA WG P, Q, R, S, T, USIRVEIR, UBI SR Q, TH U P a6 S, P 1 T § iR U. FT1 3T 7 P, T &1 ufdl ¥ URar & Y fira, < 41§ ofk s w1 §1

T, U ¥ 59 ueR defia 32
Daughter

o8
Mother

ot

Father

Aunt

=

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Diana, who is Jonny’s daughter, say to Kyra, “Your mother Kate is the youngest sister of my father, who is the third child of Max.” How is Max related to Kyra?
2422477

ST, S i B 3 B, BERT @ Fedt B, "R A e R A o 9e B 95 €, S fiow 31 At Iam B 1o e 3 59 Il @2

Uncle
A

Tl

Grand Father
B

arar

Father-in-law
C

g
D Father



faam

Correct Ans : B

Subject : General Reasoning
Q.No: 38 Find the wrong term in the series?
2422590

7, 14, 22, 31, 41, 51

gl | TTed $H PT T aa?

7,14, 22,31, 41, 51

31
A

31

41
B

41

51
C

51

22
D

22

Correct Ans : C

Subject : General Reasoning
Q.No: 39 Find the wrong term in the series?
2422610

3,6,5,20,7,42,9,70

@Al H TTed % $T gl ae?

3,6,5,20,7,42,9,70

42
A

42

5
B

5

70
C

70

9
D

9

Correct Ans : C

Subject : General Reasoning

Q.No: 40 Find the odd word out.

2424518
ST g PT TG BTG
Asia
A
Rt
Australia
B

i fern



C Soutn Arrica

Eluk il

Antarctica

SfeThiedt

Correct Ans : C

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.

2425649
/
I rpla # Bys 61 wen g @i
/
28
A
28
29
B
29
27
c
27
30
D
30

Correct Ans : D

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426296
NUMBER : UNBMRE :: GHOST : ?

I HER-TIE BT T4 DX oil TEX S&R-TE § I4 TR Gaifid § S GO SfeR-Wg, Ted SaR-Tg § Weifdd 71

NUMBER : UNBMRE :: GHOST : ?

HOGST
A

HOGST

HOGTS
B

HOGTS

HGOTS
C

HGOTS

HGSOT
D

HGSOT

Correct Ans : D

Subject : General Reasoning

Q.No: 43
2426396



Select the option /number which is related to 3™ number in the same way as 28¢ number is related to a
1t number?
42:72:110:7?

3 TEAT [faeT & 99 HY S S TEa ¥ 3 TR FEOT § o gEl TEAr ggalr
e & gEftg §

42:72:10:2

121

121
132

132
143

143

156

156
Correct Ans : D

Subject : General Reasoning

522;1"'2%44147 Select the option /number which is related to 3' number in the same way as 224 number is related to a
1t number?
32:134xy:?

30 e ffaweT & 99 H{ S SOl FEar ¥ FH TR GEiUd § S gy TEAT qgelr
T @ HeEfea §

32:13%xy:?

xy

Xy
'X2 + y2

'X2 + yZ

X+y

X+y

x3 +y3

x3 +y3
Correct Ans : B

Subject : General Reasoning

Q.No: 45 How many people uses both blue and black Pen but not red Pen?
2426561

O =People uses red Pen
A= People uses blue Pen

|:| = People uses black Pen



Iebcld <ll1 Hicl HIR bl qldl U ol SUUNT o g el cllel Ud bl -gl?

O=mmmmmmz’f
A=msnmaarsqzﬂwm%

[ ]= =l derer @ geaer ava €

15
A

15

a4
B

a

7
C

7

8
D

8

Correct Ans : D

Subject : General Reasoning

Q.No: 46 In the given diagram, Circle represents Nurses in a Hospital, Triangle represents trained and Rectangle represents experienced.
2426606

7 jx1
L\

Find the total number of trained and experienced Nurses or both?

4w MY 3 F, 90 U sRuard # R 1 v s 8, Pys uRife @1 v e 8 ol sirad syt &1 ufafiie a3

7 QX1
L N\

TR 3R SFgudt I a1 Sl St Ha T F1d Pifore?

4
A

4

14
B

14

10
C

10

7
D

7

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third term in the same way as the second term is related to the first term.
2429537
AEFG : DCIE :: JMPR : ?

I fapeq BT 759 B3 S R U I I UBR el § SR IR UE U Ug 9 Hefia 71



AEFG : DCIE :: JMPR @ 7

MKSP
A

MKSP

Misp
B

Misp

MSKP
C

MSKP

MSiP
D

Msip

Correct Ans : A

Subject : General Reasoning

Q.No: 48 Pointing towards a girl, a boy said “she is the daughter of the only son of the mother of my aunt. How boy is related to the girl ?
2429576

TH TSP BT 3R TIRT FI GU, TP A9 A gl a8 TR A 3 f F 3hai 3¢ P13 31 I8 TSHT 99 Asd! § 9 s 82

Brother
A

R

Nephew
B

BIE

Uncle
c

EIEI

Son in law
D

CILICE

Correct Ans : A

Subject : General Reasoning

Q.No: 49 Which answer figure will complete the pattern in the question figure?
2433198

N T IR S1pTel TR eMpfa # Ued o quf it




Correct Ans : D

Subject : General Reasoning

Q.No: 50 Identify the figure that completes the pattern.

2433494
?
I NP Y TgaH B S Jed &) g Hdl ¢
?
A
B
C
D

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434889
5:30::7:7



I e o1 7 ¥ o et T § 390 yeR Tl § 9N gE S, veeh v @ wefia R
5:30::7:7?
78

78
32

32
42

42
70

70
Correct Ans : C

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440183 |ggically consistent with the main statement.

When you speak truth, you feel peace
A. You spoke truth

B. You felt peace

C. You did not speak truth

D. You did not feel peace

T MY Uy F 8T A SR IEF 91 IR HUF | YT BT BT G T, 8T Ugd U H1 A G Y G g, IR € F Al FU Y 981 HF § W 8
S 1Y TG i § o S R BT 33T e §

A. 309 T el

B. 39 Xifd TRy &1

C. 3T T4 g1 sirent

D. 3y ifd &1 Srgvd 78T gai

AB

AB

BA

BA
DA

DA
CD

CcD
Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440215 |ggjcally consistent with the main statement.

If pollution increases, there will be hazardous effects.
A. pollution increased

B. pollution did not increase

C. there were hazardous effects

D. there were no hazardous effects.

fT 7T Ter 7 g1 oA SR IUF TG TR U &1 FUF! P DT IH G, To1 U5 BT BT A0 GEX $UA ¥ 8, IR < FUF A1ihd w0 § GBI B § A 3
& TGO Tl 7, N GaRAF TG ST
A. TGHUT ST



B. UgHYl gl del
C. GRAE YHE 3

D. $I§ WARAH YU el &

AC
A

AC

BC
B

BC

DA
C

DA

CD
D

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440262 |ggjcally consistent with the main statement.

If he gets selected, he will be an officer
A. he got selected

B. he did not get selected

C. he will be an officer

D. he is not an officer

T MY Uy F 8T A SR IEF 91 IR HUF | YT BT BT G T, 8T Ugd U H1 A G Y G g, IR € F Al FU Y 981 HF § W 8
I ITHT 95 B A & 1 I8 ARER) T

A. IFHT 9 B T

B. 371 949 Tl gl

C. T8 T& 3t g

D. % iR 7 8

AC

AC

BC

BC
DA

DA
CD

CcD
Correct Ans : A

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.

2441956
MQ:0::El:?
I fweT o1 709 FX o AW ug § I R Wi § 9 THR gERT ug Ugd ug  HEld § |
MQ:0::El:?
F
A
F



E
C

E

G
D

G

Correct Ans : D

Subject : General Reasoning

Q.No: 56 2 ifv:22+ _65=
3229540 Simplify: 22 + (18 - 65+13)

WA BT 22 +(18—65 +13)

35
A

35

34
B

34

49
o

49

36
D

36

Correct Ans : A
Subject : General Maths

Q.No: 57 Simplify: 70-[8+ {9 +3(10-2
QNo: 57 Simplify: 70 -[8 + {9+3(10-2)}]

WA BT 70-[8+ {9+ 3(10-2)}]

29
A

29

26
B

26

28
C

28

-25
D

-25

Correct Ans : A
Subject : General Maths

Q.No: 58

. . . 1 . .
2423602 Find the compound interest on Rs. 1860 at the rate of 5% per annum for 1; years when interest is

compounded half yearly.

1860 30 &7 12 aF & AT 5% 9y af @ A IHGRE AT A AT @ s ek
aiffes &1 & Tafea forar smar g1

Rs.149.1234

Rs.149.1234
B Rs.293.1825



Rs.293.1825

Rs.234.6511
C

Rs.234.6511

Rs.185.3621
D

Rs.185.3621

Correct Ans : B

Subject : General Maths

Q.No: 59 Find the compound interest on Rs.9710 for 9 months at 24% per annum compounded quarterly.

2423617
9710 T FT 24% Tfd a 31 R F 9 HEH P1 Thgla sAT6 T1d DT, T =a11 SRS 39 71
Rs.2312.89011

A
Rs.2312.89011
Rs.1854.76536

B
Rs.1854.76536
Rs.8213.23456

C
Rs.8213.23456
Rs.9641.15761

D

Rs.9641.15761
Correct Ans : B

Subject : General Maths

Q.No: 60 Solve:

2428582
[56%x6-55+5+11.55-(7.8x2+24x3-890f2-54 x 2)]
ukcad
[56 x6-55+5+11.55-(78%x2+4+24x3-2®%18.9-54 x 2)]
49.75
A
49.75
49.85
B
49.85
49.68
C
49.68
-49.68
D
-49.68

Correct Ans : B

Subject : General Maths

Q.No: 61 The average age of 20 players of a football team is 24. The average of 8 of them is 21. What is the average age of the remaining 12 players?
2432523

e peard A & 20 i ot g omg 24 §1 8 &1 siad 21 81 AW 12 et ot oiva oy« g2

26
A

26

28
B

28



22
30

30
Correct Ans : A
Subject : General Maths

Q.No: 62 When subtract 3pg (p — q) from 2pq (p + q), what will be obtained?
2434688

3pq (p - q) B 2pq (p + q) A Tewn Frar 1 < uikomg -

- p’q+ 5pq?
A
- Pp’q + Sp?
-p’q-5pq?
B
-p’q-5p¢?
p*q + 5pq?
C
p*q + 5pq?
p*q + 5pq?
D
p*q + 5pq?

Correct Ans : A
Subject : General Maths

Q.No: 63

2434738 x*. 1 - 47, I
f x then  x°
qﬁxhx_l"zw'f-ﬁ x3¢;}3-=?
9

A
9
15

B
15
18

Cc
18
27

D
27

Correct Ans : C

Subject : General Maths

Q.No: 64

2434768 - plify: (044 +011)x3

30.037

4+011)x3

P S g v



12

12
Correct Ans : B

Subject : General Maths

Q.No: 65 The cost price of 21 articles is equal to the selling price of 18 articles. What is the gain or loss percent?
2435213

21 FEgai 1 H9 g, 18 T30 & [aha g0 & SRR 1 0 A1 g1 wfowid @@ 22

13%
A

13%

2%
B

11%9@

162%
[o}

162%

10%
D

10%

Correct Ans : C

Subject : General Maths

g""\é‘gz‘;’% An book is sold at a fix price. By selling it at§ of that fix price one loses 10%.
Find the gain percent at original price.

Tep i PR Hed o) el el 81 39 FeiRa 7e0 & 2 e @ el 0%
P BN § 1 TS g e S J1d B

15%
A

15%

35%
B

35%

25%
C

25%

50%
D

50%

Correct Ans : B

Subject : General Maths

T S Y PP S U S RO - T U T S ST I SO S



Q.NO: B/  “0™at 40 M [amant U LU v YIALLL LA LU G0 SUAML AL o WL SLe STALLALD [rASSIS ST AMAL T UL Man prhs sl pt

2435293 profiton Cost Price when item is sold atits selling price?

7l ol g 1 3 faichd 7 o 2 WITT QR Sl Tl €, Tl 10% I AHGIA g1 554 Ped TR
TTd AT e 1T S 98 93 faoha e QR e oIl § 2

32%
A

32%

30%
B

30%

26%
C

26%

28%
D

28%

Correct Ans : A
Subject : General Maths

Q.No: 68 0.000482 when expressed in scientific notation is

2437471
0.000482 1 A% I Yebar & siftrerad faan s ot
481 x 10¢
A
482 x 10¢
4.82x10%
B
4.82x10%
4.82x10%
c
4.82x10%
4.82x103
D
4.82x103

Correct Ans : B

Subject : General Maths

Q.No: 69 ' Ram received Rs 5100 from his father. He lost Rs1100 out of it. but his father sent him Rs 2300more, he then paid his dues medical bills of Rs 5000. then money left with Ram
2437491

M BT U T ¥ 5100500 U gUIST 39 91100 U @ RUIGfE 39& fUar 3 38 2300 0 3R 99 AT, Y I 5000%0 F AfSwd 9el &1 yrrar foan & IW & < A9 Ay €

Rs.1200
A

1200 =03

Rs.1300
B

1300 9

Rs.1170
C

1170 =03

Rs.1330
D

1330 ¥03

Correct Ans : B
Subject : General Maths



.No: 70 . r ,
2437551 Which fraction amongg,%,g and S is the largest?

2,55 AR U B 91 3 G S91 g

2
3
A
2
3
4
9
B
4
9
5
6
C
3
6
1
4
D
1
4

Correct Ans : A

Subject : General Maths

Q.No: 71 If in a symbolic language ‘FORGET' is written ‘DPPHCU’ then ‘DOCTOR’ will be written in the same language as?
2422540

g fpHt widsfae WIS & ' FORGET' &1 'DPPHCU’ e @IIE <l 'DOCTOR' &1 3t HIST | feran simerm fores?

BPAUMS
A

BPAUMS

BPAUPS
B

BPAUPS

EMDRPP
C

BPAUPS

BPARPP
D

BPARPP

Correct Ans : A
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘SUMMER’ is written *"RUNNER’ then ‘WINTER’ will be written in the same language as?
2422570

Tfg fwt gichfas ST & 'SUMMER' @1 'RUNNER' foraT Sie & ‘WINTER' &1 It yrer & ferar smom ford?

WALKER
A

WALKER

SUFFER
B

SUFFER

VIOUER
C

VIOUER

SUITER
D

SUITER



Lorrect Ans @ C

Subject : Mental Ability

(221\‘205:57838 Inarow, A is 17% from left and B is 13th from right. When the interchange their position respectively.
Then A becomes 22 from left. Then what will be B’s position from right after interchanging.

TF Ui § A TSR § 17a § 9k B AW F 1391 ¥1 99 HAN: I U T SMEH-UEH Tl 81 79 A I F 2231 & 91 81 1 109 & Fgaq F 91 o F B 31 Ry e

26
A

26

25
B

25

27
C

27

29
D

29

Correct Ans : D

Subject : Mental Ability

Q.No: 74 If PRATAP could be given the code number 1618120116, what code number can be given to NAVIN?

2426506
Ifg PRATAP 1 $Ig GBI 1618120116 a1 51 GFaT 7, A1 NAVIN &1 B R @Y T & o wadt 82
14122914

A
14122914
19274651

B
19274651
24639125

o
24639125
73957614

D
73957614

Correct Ans : A

Subject : Mental Ability

Q.No: 75 If the certain code, COVET is written as FRYHW, which word would be written as SHDUQO?

2426536
I P H1s, COVET &1 FRYHW fran S &, @ @19 o1 2sg SHDUO & w4 # frar smem?
QUAKE
A
QUAKE
REPAY
B
REPAY
STINK
C
STINK
PEARL
D
PEARL

Correct Ans : D
Subject : Mental Ability

Q.No: 76



2430221 In the tollowing questions, two statements are given followed by two conclusions (1) and (11). You have to consider the statements to be true even it they seem to be at varian
commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: National steel Company has moved India from the position of shortage of self-sufficiency in the metal.
Conclusions:
I. Previously; India had to import steel.

II. With that speed; it can soon become the foreign exchange earner.

Frafafea uedt §, & Ty 3 B 1, 11 371 SeR0 F30 § STUH! G S R 3R S 8, 4 1 3 SR W a0 aadi § weild 89 a1 et 7w T 10 su & ofe frsedf §1 o et om0

FY: g H ol 3t FH Bt Rufa &, W TR SO A WA B g forn 71
s

L. U8Q, HRd 1 KIe BT AT AT USdl |

I1. 39 TIfd & WY, I8 es o faash gal ol & ad 3

Only conclusion I follows

A
P Ty 1 SR a1 §
Only conclusion II follows
B
Fae Y IT SEERY Bl §
Either I or II follows
C
1A 1 97 1T SRR BT &
Both I and II follow
D

1 3R 11 ST rgRRY FRa §
Correct Ans : D

Subject : Mental Ability

Q.No: 77 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430250 commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: About 20% of the animal by products of hair, skin, horns.. is edible protein. Indian chemists have developed a method of isolating 45% of this protein. They usec
enzyme developed in India to break down soya protein.

Conclusions:
1. Indians have not been able to develop enzymes.

II. Animal products protein has the same composition as the soya protein also.

Frofefaa usii &, < F S A 1, 11 $7 SFRRU S=d 7 SMUs! SHT FUHl R TR S 9, 4 @ § TR | I1d aull § welid 89 @1 smue! By e M sy % afe frsed 8 A e T

FY: 1, T, G F STET ERI ST 20% U WTel WIS 81 URKHH SRl 3 39 WA & 45% B e o33 31 v Al ol 9 §1 35 S Wida & disd & g wra & Rl o
SRAHTE fopa)

e
1. YR TomsH fJofia e a% a8
11, U] ST & WA & I Wida & I9H & WRaeT it 81

Only conclusion I follows

A
Faw Ay T SigeR el §
Only conclusion II follows
B
Paa TP I1 TR0 ST &
Either I or II follows
C
T I G7 IT 3R SR &
Neither I nor II follows
D

AT IR A 1T ST FRAT §
Correct Ans : D
Subject : Mental Ability



Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
2435463 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

1. All stags are rams.
II. All rams are kites.
Conclusions:

I. Some kites are stags.

II. Some stags are kites.

1 fu e uy & Q) FF SR IUF 917 & Fmy 1 iR 11 U MY §| et 3T T F ) 9 WA R, 918 d IHIR: T a9t ¥ A wld 81 §, simue! fofa e § fF T e e § 4 ae
e aifbe ¥U ¥ SRRV HRal )

P
1. 9+ fe=or Fe 7
11. Tt Fer UeT g
o

1. TS Ya feRr €
I1. $© v dam €1

Either conclusion I or II follows.

a1 Y s 1 a1 11 SigERr T §1

Neither conclusion I nor II follows.

T e 1 3R T E 11 SRR e B

Only conclusion II follows.

Fad ey 1T SR B 1

Both conclusions I and II follows.

SRl sy 1 @R 11 SRR XA B

Correct Ans : D
Subject : Mental Ability

Q.No: 79 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly
2435523 ynown facts, read all the conclusions and then decide which of the given conclusions logically follows the given statements.

Statements:

All Guy are Boys.

All Boys are Men.
Conclusions:

I. Some Men are Guy.
II. No Men are Guy.

III. All Boys are Guy.

A1 U 1T 1y & $© FuA 9R ITE 918 39 FYHI W SR T ey Ay MU ¥, Tl S g ia at & fwar 8 gedt 3] i e ug oiR kR Perifva o fF fau e e @ frsed, fa
FUA B YR R JfekaaTd g

PY:

it g w8 F g

Tt s g &

ﬁ@'ﬁ:

1. $% 39 T g

11, T Gou Tifd T ¢

111, it @S g §1

None of the conclusions follows.

F15 1t feepe SrgERor 7 v 21

Only conclusion I follows.

Pad Y 1 SR Far B



Only conclusions I and II follow.

P =Y 1 3R 11 SR 334 B

Only conclusions II and III follow.

Fad FTepY IT 3R III SR o3 &1

Correct Ans : B
Subject : Mental Ability

(22‘-‘”3%5?6 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
Z>P,P<M, M<]
Conclusions:
I.P<]
I.J<2Z

FAfad 93 &, HU=T & arg fosad fgu T §)

fET 31T T & MUR TR A &7 Heqga Y 3T AT See) & &9 A 397ad [daed o a4+ Hi
Fye

Z>PP<M M<]

forsd:

I.LP<)

IL.1<z

If only Conclusion I follows

A
Fal Freed 1 9@ §
If only Conclusion II follows
B
Faa i i va
If either Conclusion I or II follows
C
gafred o s
If neither Conclusion I nor II follows
D

A dRTIFIITTR
Correct Ans : A
Subject : Mental Ability

gi‘;‘;;g In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
A< ZZP>R>T
Conclusions:
I.T>2Z
II. Z >R

TFATIRIA 937 &, HUAT & alg, foisay e a7 §1

fEU 9T Tt & AR R T@my &7 7eader o A 379 3 & &9 & S9Gad [daed &l 99 F|
FUA:

A<KZ2P>R>T

forsad:

I.T>Z

II. Z >R

If only Conclusion I is true

Foa e 1 9

If only Conclusion II is true

Paa Y 11 TT

C If either Conclusion I or II is true



Il =hY I U7 II 94 §

If neither Conclusion I nor II is true

Tl I dRTDIITT R

Correct Ans : B

Subject : Mental Ability

(222“3‘;58926 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
Zehen > Priya < Money < Jonny
Conclusions:
I. Priya < Jonny
II. Jonny < Zehen

AFafafg 927 3, FU=t & are vy fgw v §)

TET 9T He=AT & HTUR R TASHY BT HedTet B AT I Sl o &9 A 39Gad famed 1 a8 B
FIUA:

Zehen > Priya < Money < Jonny

forsad:

I. Priya < Jonny

II. Jonny < Zehen

If only Conclusion I follows

A
Faa Fed 1 99§
If only Conclusion II follows
B
Frafrrwa s
If either Conclusion I or II follows
C
o i 1 AT 11 W@ R
If neither Conclusion I nor II follows
D

TFafef 1 dRTI@IITTR
Correct Ans : A
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439082 ommonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some devices are phones.
Some phones are switches.
Conclusions:

I. Some devices are switches.

II. All switches are phones.

R U T vy B &) B AT SHH v &1 e 1 quT 11 RT T E 1 e AT T e Y W AT €, o € 98 T aut § i el 9 € a1 el & SR TR MUY SO SR & E
T

TS FUBR B g

o BIF & gl

frsm:

1. $& 390 &4 §

11, o+ R w8l

Conclusion I follow

e 1 SIgERUT FRaT §

Conclusion II follows

e 11 SR BT §

C Conclusions I and II follow



e 1 3R I SRR B

Neither conclusion I nor II follows

7 Fresd 1 iR 7 & P 11 3Rw e §

Correct Ans : D

Subject : Mental Ability

Q.No: 84 Arrange the following words in a logical and meaningful order.
2442669

(1) Write

(2) Publish

(3) Author

(4) Reader

(5) Sale

i wedl 1 U difthe Td srefquf o # afRuq i
1. e

2. THRA

3, dES

4, UsE

5. fapa

3,1,254

3,125, 4

4,3,1,2,5

4,3,1,2,5
3,2,1,5,4

3,2,1,5,4
1,3,2,54

1,3,2,5 4
Correct Ans : A
Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442678
1. Rajasthan

2. India

w

. Jaipur
4, North India

5. Asia

frafeRad 2real &1 U diiches Ud sl shw # erafyq i)
1SRRI

2.MRd

3.9

4.IR HRA

5. Uk

13,245

1,3,2,4,5

1,3,4,2,5

1,3,4,2,5
C 3,1,2,4,5



31,245

3,1,4,2,5

3,1,425
Correct Ans : D

Subject : Mental Ability

Q.No: 86 Which of the following is divisible by 5 and 2?

2427592

Frofifaa § 4 o1 5 ok 2 | faursa 72

8955160
A

8955160

1165315
B

1165315

8765132
c

8765132

909587
D

909587

Correct Ans : A

Subject : General Aptitude

Q.No: 87 One angle of a pentagon is 140 degree. If the remaining angles are in the ratio 1 : 2 : 3 : 4, the size of the greatest angle is:

2431341

UGS BT UF 3k BV 140 MY, Mok spyorm @lor1: 2 ¢ 3 : 4 F Ui A B, O U &3 BV &7 9 1 PIR?

150°
A

150°

180°
B

180°

160°
c

160°

170°
D

170°

Correct Ans : C

Subject : General Aptitude

Q.No: 88 A and B are at a distance of1.7 km apart and they start running towards each other at a speed of 8 m/s and 9 m/s respectively. After how much time, will they meet each oth
2435977

A IR B TH-gER A 1.7 fFlt 3t gl W F 3R T H-g 3 % I : 8 T/ iR 9 Tiyd 3t 7 & s IE R 71 3 A WY ¥ aIe ue-gw @ A

1 minute 4 seconds

A

14 ¥

1 minute 40 seconds
B

140 ¥

14 seconds
C

14 %

14 minutes
D

147

Correct Ans : B

Subject : General Aptitude



Q.No: 8Y A TNOTOr Ccycie gives an average or 45 KIT per nwre. 11 tne cost OT Petrol 1s Zu/Ntre. 1nen tne amount requirea to Commpiete a Jjournegy or 54U Km Is (In Ks. J=
2436008

T TR AR 45 . /diex 1 oiva 3 31 aft 9da 9 @ied 20 Ui dfieR &, @ 540 5. % amr gt =3 A fraeit IR (3 F) srazawar grfie

120
A

120

360
B

360

200
C

200

240
D

240

Correct Ans : D

Subject : General Aptitude

.No: 90 . . . s . 2
24306018 Walking at % of his usual speed, a person reaches his office 18 minutes late than the usual time.

His usual time in minutes is:

T A el @ ity & 2 aifer X go U e FTed # T 9HT 18 fere $0 @ wgaar ) s
ﬁaﬁwmmﬁﬁmmt

60

60
54

54
72

72
45

45
Correct Ans : B

Subject : General Aptitude

Q.No: 91 A runs twice as fast as B and B runs thrice as fast as C. The distance covered by C in 72 minutes, will be covered by A in -

2436023

A, B P g A T AU B, CH UM T TR T A M Toa 31 W@ Md @ man ok cFl 72 e 1 o e §, & A gR1 R T 9 § -

18 min.
A

18 .

24 min.
B

24 .

16 min.
c

16 M.

12min.
D

12 min.

Correct Ans : D

Subject : General Aptitude

Q.No: 92 Train A takes 1 hour more than train B to travel a distance of 720 km. Due to engine trouble speed of train B falls by a third, so it takes 3 hours more than Train A to complete
2436054 game journey. What is the speed of Train A (in km/hr)?



720 f5. M. R T FAH T A D T B 1 gl | 1 vl 3 e §1 S99 o S0 M & HROT B Bt 7T 0 {51 o0 81 9l 31 ofd: SH gA S A FHA R CIB I AP @ A 3 W ¢
T E1 A B e (. /eer B) @ g

80
A

80

20
B

90

60
C

60

70
D

70

Correct Ans : A
Subject : General Aptitude

(2221'\;%09735 A and B can finish a work together in 3§ days. C and D can finish the same work

in 3 é days. If A, B, C and D do the work together, how long will it take for them to
finish half of the work?

A3 B QT e ww et 3§ ot of o e €1 C ol O owht et W 32 Rt A o A B
If A, B, XD v faew e wa § ot o et B qu W A o7 Fraer gwa e

1
k" = days
A
1
1R
8
Ty days
B 8
Eﬁ?
2
= days
& 2
o =
11
—days
D 13

11
13

Correct Ans : D

Subject : General Aptitude

Q.No: 94 A can do a work in 7 days. B can do same work in 11 days. Rs.6966 is paid for the whole work. B's share will be? (in rupees)
2436126

AR e B 7 & & IR Iwar 81 B 30 F18 B 11 3 H R 91 81 3¢ R W F R 6966 T HT YA 31 ST 81 A B F fowan R e (3w #)

3709
A

3709

3257
B

3257

4257
C

4257

2709
D

2709

Correct Ans : D

Subject : General Aptitude

Q.No: 95
2436134



Amit, Sunil and Deep contract a work for Rs.2431. Together Amit and Sunil are

supposed to do % of the work. What will be Amit's share if Sunil's share is 1;’1% more

than that of Deep.

aftre, et A Q9 A 2431 59 o T Imr w1 o R AR AR g o e wm a
axa € aR g A Redwd do @ 2o arfaw §, a e 1 Redar R @

816
A

816

867
B

867

848
C

848

748
D

748

Correct Ans : B

Subject : General Aptitude

Q.No: 96 What is the sum of the digits of the least number, which when divided by 12, 16 and 54, leaves the same remainder 7 in each case, and is also completely divisible by 13?
2436148

T BIS UE F it B AN I B P 12, 16 3R 54 A RUIRE §3 R 7 Ivwd sEdl 31 9K 98 Genm 13 I gufa: s 31

36
A

36

27
B

27

9
C

9

16
D

16

Correct Ans : D

Subject : General Aptitude

Q.No: 97 Two numbers are in the ratio 6 : 11. If their HCF is 28, then the sum of these two numbers is:

2436150

< HEIY 6: 11 & U H 1 A% S 7L.Y.Y. 28 §, N 37 3 GOISh &1 I &

476
A

476

420
B

420

443
C

443

392
D

392

Correct Ans : A

Subject : General Aptitude

Q.No: 98 When n is divided by 4, the remainder is 3. The remainder when 2n is divided by 4 is?



244406106

N @ 4 ¥ YT & W 3 AW G &1 2n BT 4 F YT 3 W 7 A gm?

1
A

1

2
B

2

3
C

3

6
D

6

Correct Ans : B

Subject : General Aptitude

Q.No: 99 A certain number of two digits is three times the sum of its digits. If 45 is added to the number, the digits will be reversed. What is the sum of squares of the two digits of t
2444627 ,,mber?

<1 3l ot o i Tem 39 Siwl & A @t diF T 81 9 39 T # 45 SiST W df $id I9e Sd &1 WS F Gl 3Dl & avll ol ANThd T 57

41
A
41
45
B
45
53
c
53
64
D
64

Correct Ans : C

Subject : General Aptitude

Q.No: 100 What should come in place of question Mark *?” in the following number series?

2444661
2,4,7,35,42, 462, ?
Frefafea e g & ugd g 27 & RIF W a1 se?
2,4,7,35,42, 462, ?
5016
A
5016
470
B
470
4712
C
4712
475
D
475

Correct Ans : D

Subject : General Aptitude



